
■3ページ　｢付属品をご確認ください｣

項目 変更前（取説記載内容） 変更後（正しい内容）

カメラ固定用ねじ カメラ固定用ねじ（M4×8) カメラ固定用ねじ（M4×10)

■17ページ　｢ヒーターについて｣

項目 変更前（取説記載内容） 変更後（正しい内容）

ヒーターについて
ヒーターについて
寒冷地でもご使用いただけるよう、本・・・

ヒーターについて
寒冷地でもご使用いただけるよう、本・・・

■22ページ　｢カメラ取付台とカメラを固定する     ｣

項目 変更前（取説記載内容） 変更後（正しい内容）

    のイラストに記載された
カメラ固定用ねじ3本

カメラ固定用ねじ3本
（M4×8)　（付属品）

カメラ固定用ねじ3本
（M4×10)　（付属品）

■37ページ　｢天井面に取付ける     ｣

項目 変更前（取説記載内容） 変更後（正しい内容）

    のイラストに記載された
カメラ固定用ねじ3本

カメラ固定用ねじ3本
（M4×8)　（付属品）

カメラ固定用ねじ3本
（M4×10)　（付属品）

※付属しているカメラ固定用ねじは、変更後の（M4×10）を付属しています。

取扱説明書　基本編　　DG-SW316L/DG-SW316/DG-SW314

取扱説明書　基本編に記載の内容を変更しました。以下に変更前、変更後の内容を記載します。

取説記載内容変更

SW316SW316SW316LSW316L

3

3

6

6



This document contains addendum to the Installation Guide. Refer to the following table for the corresponding descriptions.

■Page 15 "Heater unit"

Item Before After

Heater unit Heater unit
This product is equipped with an internal heater…

Heater unit
This product is equipped with an internal heater…

■Page 20  "Secure the camera to the camera mount bracket      "

Item Before After
Camera fixing screw x 3
in the illustration of

Camera fixing screw x 3 (M4 x 8)
(accessories)

Camera fixing screw x 3 (M4 x 10)
(accessories)

■Page 35 "Attaching the mounting surface on the top surface of the camera body      "

Item Before After
Camera fixing screw x 3
in the illustration of

Camera fixing screw x 3 (M4 x 8)
(accessories)

Camera fixing screw x 3 (M4 x 10)
(accessories)

■Page 48 "Standard accessories"

Item Before After
Camera fixing screw Camera fixing screw (M4 x 8) Camera fixing screw (M4 x 10)

The product includes the camera fixing screws (M4 x 10).
avs0513-0 PGQW1373ZA

Printed in China

Installation Guide  WV-SW316L/WV-SW316/WV-SW314/WV-SW316LE/WV-SW316E

ADDENDUM

SW316SW316SW316LSW316L

3

3

6

6


